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Questions

The Myelin Sheath of formed by:

Which type of neuron present inside the central nervous system?

They receive information , interpret them and stimulate motor neurons:

No. of components of coordination process is:

Which one does not act as effector:

Effectors include;

The parts of body which receive message from coordinates and produce response are;

Nerve impulse carries from Receptors to central Nervous System:

Special organs , tissues or cells of the body which detect stimulae:

Functions of effector called

Which one is co-ordination in nervous co-ordination?

Is responsible for chemical co-ordination:

Answers Choice

A
B.
. Dendrites

. Schwan cells
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Nodes of Raniver
Axons

Sensory neuron only

. Motor neuron only

Sensory and motor neuron only

. Inter Neuron only

Sensory Neurons

. Inter Neurons

Motor Neurons
Mixed Neuros

Liver
Nephrons
Brain
Bones

Only muscles

. Only glands

Muscles and glands
Brain

. Effectors

Receptors
Stimulus
Neuron

Sensory Neurons
Motor Nuerons
Inter Neurons
Effectors

Receptors
Coordination
Effectors

. Dentrites

Stimulus
Impulse
Response
Axons

Glands

. Brain and spinal Cord

Brain

. Spinal cord

. Endocrine System

. Central nervous system

. Peripheral Nervous System
. Autonomic Nervous System



